SIMRAD

B&G JOARN

For product manuals, technical specifications, certificates
and declarations refer to the product website:

www.simrad-yachting.com
www.bandg.com

g

* 9 88 - 11180-003 =%

NSO evo3 16” and Zeus3 Glass Helm 16”
1

TOP TOP
o o o o o o
o o0_0o o_o o

-9 =
olo o o olo
o:=:l“)dd:: =:o

1 1

1 1
0,0 o o 0,0
o © o °© o 0
olo o ol o
o:=:I“)dd :::o

1 1

- J Lo J
o o o o o o

| d | NSO evo3 16" Zeus 3 Glass Helm 16"

Parts included

B M14 washer C M10 washer
@ X6 X6
\
Méx30 M6 washer M6 Nyloc 10 mm
F x 10 G ) x20 He x10

J M4 washer K M4 Nyloc7 mm L M10x56 spacer
x 30 x 12 x 4

@

Qty | Type Torque Nm
6 M4 x 16 3

10 M6 x 30 7

2 M10 NUT 15

4 Wheel knob | 2

Note: Spacer kit for NSO evo3 16" and Zeus? Glass Helm 16" is sold separately, PN: 000-14488-001.

Other units
1

o /
TOP TOP %@
b—le 5 o S o e
A 4 v \\\
C—® O O o O e i)

11
(o)
o
|
=
o
Q.
P
|
[ ]
O

age o O,B:[] IEE] o o e
bite o o o o e
c—-e® O O o e

1T
(e}
[
|
S
Q.
Q.
Pr—
0
[ ]

-]
[ ]
[¢]
[©]
[¢]
[¢]
[J

U

M5027
M5024, NSO evo3 24" Zeus 3 Glass Helm 24"
M5019, NSO evo3 19" Zeus 3 Glass Helm 19”
M5016

QN |T|lY

27" units - x6
Other units - x4



NSO evo3 16” and Zeus3 Glass Helm 16”
2 3

Spacer kit sold seperately (PN: 000-14488-001).

Screws supplied with the
spacer kit shall be used

Other units




